CADF—#®%5o>0O—R » http://www.imao.co.jp/

40)—X

AR AT |
PIxARINIK RoNS
F
5 ¥ 5
M8x1.25 qj
— ‘ (Lg
| ZEE13_T s
I ‘ ©
AP- M8x50 sus é g [ESHN
AP-M8X50 2 ‘ 3
I
©
AP-M8X90 - ¢38
-suUs F
AP-M8X50 3
F AP-M8X50-SUS & .
AP-M12x150 /'H*’f‘\
Sus ﬁ—/ M12x1.75 \ ﬁ: |
M8x1.25 \ﬁ:i ‘\ i ,‘
! - Yo}
e M s
T 0 3| —mE|19 -
. | ol Z—EE13 ﬁ B3 o3 : ‘
| 0| 3 <
! : 5 (c EE A -
AP-M8X90 9' 0 ?_’l 5 |
© N ‘
- $38 ‘ $60
AP-M8X90 AP-M12x150
5 AP-M8x90-SUS AP-M12x150-SUS
AP- M12x150
ATIVA
AP ¥Hil—8
4 & SPCC(/\wR) m A& m B B2 i & B
SWRM8 (RIER) . .
T W T PUrR&INIEM 8% 50 AP-M 8x 50 48  ¥400
E E EnE_ o o o
p AV X - X 58 118
= TR PIO¥ARZINFM 8X 90 AP-M 8x 90 ¥500
ToYAR21\vykN M12x150 AP-M12x150 =208 ¥600
7 =1 SUS304 m & @ B HE() i & B
=1 £ hai—% . e o=
- TR TUARSIIN RFVUAM 8x 50 AP-M 8x 50-SUS 48 ¥800
TI+A81N9K A7/VAM 8% 90 AP-M 8x 90-SUS 58 ¥1,000 1M
To+A8IN9K AFVVAM12%150 AP-M12x150-SUS 208 ¥1,200

IM-FRAME (Fyhit=Y)

WiT EP.116
KT S0 255N

FYTAHBEAIIEVELA,

TIwRZINRARY TR

ERT25E
MIFDEEENET,

T aEM8X35
T REM8X60




